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problem distribution

* morning: 7% (8 out of 120 problems)

+ afternoon: 8% (5 out of 60 problems)
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101. A steel rod (E =210 GPa, aa=11.7x10°°C1) is
constrained and heated. What is the stress induced by a

40°C increase in temperature?
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104. Find the maximum shear, force and its locatiﬁ)n. |
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105. Find the maximum tbiﬁgmomem.
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37. Sketch the shear and bending moment diagrams.
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34. Determine the maximum bending stress.
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102. What 1s the largest shear stress in a beam with a
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35. Determine the maximum shear stress. ‘2”
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103. What 1s the ratio of maximum bending stress to the
maximum shear stress 1n a cantilever beam with an end

load and a rectangular cross section?
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10.16 A 10 ¢m diameter shaft can tolerate up to a 140
MPa shear stress. What is the maximum torque (N-m)?
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100. Determine the maximum shear and normal stresses
given G, = =6 MPa, 6, =0 and ‘Exy =4 MPa.
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Determine the plane of normal stress in torsion.
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107. What 1s the maximum shearing stress at the fixed

end of the 2 in. diameter shaft?
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106. A 20 m flag pole 1s made of a 6 cm diameter steel
(E =210 GPa). What 1s the maximum axial load, using
2 as a factor of safety.
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